
XT7M - XT7

SACE Tmax XT

Doc. N.° 1SDH002013A1802 - ECN000242881 - Rev. C

Trasformazione da versione fissa ad estraibile - XT7M - XT7
Conversion from fixed to withdrawable version - XT7M - XT7
Umrüstung von fester in ausfahrbare Version - XT7M - XT7
Transformation de version fixe à débrochable - XT7M - XT7
Transformación de versión fija a extraíble - XT7M - XT7

 XT7M - XT7从固��转为可抽�� - 

A B U V Z L1

3p

4p

3p

4p

1

1

1

1 1

1

1

1

Ekip Dip LSI, Ekip Dip LSIG, Ekip Touch

M3x45

Ekip Dip LS/I, Ekip Dip LIG, Ekip M-I, Ekip Dip G-LS/I, Switch disconnector/MCS



SACE Tmax XT | ABB

I

L

M

N

O

P

A1

B1

C1

D1

E1

F1

G1

H1

F

G

H

3p 4p 3p 4p

1 1

1 1

1 1

1

1

6 8

6 8

12 16

12 16

8 8

4 4

2 2

4 4

4 4

3 3

Øint 10,5

M10x25

M4x10

M3x45

3.5x12

3X7

3X12

M4

1 1

1 1

XT7M

1

XT7

C
1 1

D

E

1 1

1 1

1

1

1

Black zinc-coating 



1 XT7 only

2 XT7M only

SACE Tmax XT | ABB

Q

R



3

4

4p 

SACE Tmax XT | ABB

A1

B1

O

P

  20 Nm
177 lb in

S

T



5

6

SACE Tmax XT | ABB

R



7

8

SACE Tmax XT | ABB

D1

C1

  2 Nm
17.7 lb in

  2 Nm
17.7 lb in

C1

E

G

F

H



9

10

SACE Tmax XT | ABB

3p

F1

I

  0.8 Nm
7.1 lb in

Prima di montare questa fiancata, montare i blocchi anti-introduzione (vedere il documento )1SDH002013A1621
Install the anti-racking locks before assembling this panel (see the document )1SDH002013A1621
Vor der Montage dieses Seitenteils die Verriegelungen gegen das Einfahren montieren (siehe das dokumet )1SDH002013A1621
Avant de monter ce panneau latéral, installez les verrous anti-introduction (voir le document )1SDH002013A1621
Antes de montar el lateral, montar los bloqueos anti-introducción (véase el documento )1SDH002013A1621

在��此侧面��前, 应先���嵌�块 (���件 )1SDH002013A1621

D1

C1

  2 Nm
17.7 lb in

  2 Nm
17.7 lb in

C1
D

http://search.abb.com/library/Download.aspx?DocumentID=1SDH002013A1621&Action=Launch
http://search.abb.com/library/Download.aspx?DocumentID=1SDH002013A1621&Action=Launch
http://search.abb.com/library/Download.aspx?DocumentID=1SDH002013A1621&Action=Launch
http://search.abb.com/library/Download.aspx?DocumentID=1SDH002013A1621&Action=Launch
http://search.abb.com/library/Download.aspx?DocumentID=1SDH002013A1621&Action=Launch
http://search.abb.com/library/Download.aspx?DocumentID=1SDH002013A1621&Action=Launch
http://search.abb.com/library/Download.aspx?DocumentID=1SDH002013A1621&Action=Launch


11

12 4p

SACE Tmax XT | ABB

4p

  0.8 Nm
7.1 lb in

F1

L

S

T  0.8 Nm
7.1 lb in

  2 Nm
17.7 lb in



13

14 3p

SACE Tmax XT | ABB

BExample for Ekip Dip LSI, 
Ekip Dip LSIG, Ekip Touch

C

E1

  2 Nm
17.7 lb in



SACE Tmax XT | ABB

16

15 4p

PULL

OK2

1
3

OK

8

6
7 PUSH

PULL
5

4 OK

KEEP PULLED

KEEP PULLED

RELEASE

Example for Ekip Dip LSI, 
Ekip Dip LSIG, Ekip Touch

A



17

18

SACE Tmax XT | ABB

- Tirare e rilasciare per verificare il corretto 
  inserimento/disinserimento dei contatti striscianti.
- Pull and release to verify the correct 
  rack-in / rack-out of the sliding contacts
- Ziehen und loslassen, um das korrekte 
  Ein- und Ausfahren der Gleitkontakte zu überprüfen
- Tirez et relâchez pour vérifier l'embrochage 
  et le débrochage corrects des frotteurs
- Tire y suelte para verificar la correcta entrada 
  y salida de los contactos deslizantes

- ��二次插�认摇�摇�活动灵活

OK

Example for Ekip Dip LSI, 
Ekip Dip LSIG, Ekip Touch



19

20

SACE Tmax XT | ABB

XT7 only

  0.8 Nm
7.1 lb in G1

N

钻孔

Only for Ekip Dip LS/I, Ekip Dip LIG,Ekip M-I, 
Ekip Dip G-LS/I,Switch disconnector/MCS

Z

L1
0,8 Nm
7,1 lb in



21

22

SACE Tmax XT | ABB

XT7 only

XT7 only

R

  2 Nm
17.7 lb in

Q

  2 Nm
17.7 lb in

M

H1

  0.8 Nm
7.1 lb in



23

24

SACE Tmax XT | ABB

XT7M only

XT7M only

ABB

H1

  0.8 Nm
7.1 lb in

M

I

R

  2 Nm
17.7 lb in

Q

  2 Nm
17.7 lb in

  2 Nm
17.7 lb in



25

26

3p

4p

F1

  0.8 Nm
7.1 lb in

I

F1

  0.8 Nm
7.1 lb in

L

Example with XT7

Example with XT7


	Pagina 1
	Pagina 2
	Pagina 3
	Pagina 4
	Pagina 5
	Pagina 6
	Pagina 7
	Pagina 8
	Pagina 9
	Pagina 10
	Pagina 11
	Pagina 12
	Pagina 13
	Pagina 14
	Pagina 15

